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ER (m) HJHE (m) miE(m)
1 59 X 05 = 295 m
2 48 x 05 = 240 m
3 53 X 10 = 530 m
4 66 X 10 = 660 m
5 38 X 05 = 190 m
6 40 x 05 = 200 m
7 13 X 10 = 130 m
8 78 X 10 = 780 m
10 53 X 10 = 530 m
12 380 x 10 = 3800 m
13 109 X 05 = 545 m
14 123-52 X 10 = 710 m
15 43 X 05 = 215 m
16 25 X 10 = 250 m
17 97 X 10 = 970 m
18 70 X 10 = 700 m
19 34 X 05 = 170 m
21 56 X 10 = 560 m
22 13 X 10 = 130 m
23 31 X 10 = 310 m
25 430 m
FIIE(Q) 32862 m
AEQ 236.4 m IRIBBRE
R BRE Bt 45207 m
RIRRE Bt 2364 m
TEFE1EER
ER (m) HJHE (m) mEfE (m)
BR1 81-12 X 05 = 345 m
BR1-2 89 x 05 = 445 m
BR2 34 X 05 = 170 m
%2 14 X 03 = 42 m
&3 100-37 X 10 = 630 m
BR4 32 X 10 = 320 m
BR5 150 X 05 = 750 m
6 26 X 10 = 260 m
B&7 111 X 10 = 1110 m
53] 62 X 05 = 310 m
53] 87 x 10 = 870 m
%3 33 X 03 = 99 m
B&10 191 X 10 = 191.0 m
BR11 24 X 05 = 120 m
BR12 16 X 05 = 80 m
BR13 41 x 05 = 205 m
fR14 95 X 05 = 475 m
B&15 45 x 10 = 450 m
Fx16 45 x 10 = 450 m
Al 258 = 258 m
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iR (m)

45
250
150

225-40
225-3
225-5
225-9

155
245-5
106
100
17
80

fEf (m)

11
11
26

12

106
95-7
40
195
200
105-13
110-13
105-30
109-8
237
110

IR (m)

18
62

30
40
52
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HJHE (m)
0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.5
0.7
0.5
0.7

HJHE (m)
0.5
0.5
1.0
1.0
1.0
0.5
0.7
0.5
0.5
0.5
0.5
0.5
0.7
0.5
0.5
1.0
0.7

89.3

HHE (m)
1.0
0.5
1.0
1.0
0.5
1.0
0.5

EE (m)
315
175.0
105.0
129.5
155.4
154.0
151.2
108.5
168.0
53.0
70.0
8.5
56.0

1,365.6

mE#E (m)
17.0
5.5
1.0
26.0
5.0
6.0
74.2
240
20.0
97.5
100.0
46.0
67.9
37.5
50.5
237.0
71.0
89.3

991.4

mE#& (m)
13.0
9.0
62.0
8.0
15.0
40.0
26.0

173.0

3.3.3.3.3.3.3.3.3.3.3.3.3.

3. 3.3.3.3.3.3.3.3.3.3.3.3.3.3.3.3.3. 3. 3.

3.3.3.3.3.3.3.

Bn



OB i B &

T i [ Bt R T
i a1l B Bt R T gy
4 PR it A = 4]
a7 Y —h PRI D
(CEE) ,
4 A = 27.8 X 0.8 = 22.2 22 m
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a7 U— bk (CEHE) XV
A = 22.2
PEH 2 m
v = 22,2 X 0.1 = 2.224
o s — k KLY
() - B )
18-8-25BB 1=10cm A = 90.0 X 1.0 = 90.0 90 m
W=1. Om
ka7 U— bk (QCEHEER) XD
A = 90.0
PEH 3% No. 0+10. 0~No. 5 9 m
v = 90.0 X 0.1 = 9
JEETL D
B AL T v = 2.22 + 9.00 = 11.22 11 m
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